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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
1) 98 2) 84 3) 59 4) 69
x 2 X 2 X 6 x 3 L
2,
3.
4.
5 91 6) 97 7) 34 8) 73
x 7 x 3 x 3 x 6
5.
6.
7.
8.
9) 44 10) 42 11) 49 12) 88
x 7 X 6 x 8 x 8 9
10.
11.
12.
13) 24 14) 76 15) 79 16) 91
x 9 x 3 x O x 5
13.
14.
15.
16.
17) 99 18) 87 19) 13 20) 60
x 3 x 7 x 5 x 5
17.
18.
19.
20.
: 1-10 (95|90 85[80]75]|70] 65|60 5550
MatematiCall = - oreshessit 4 11-20[45[40(35[30[25] 20[15[10[ 5 [ 0
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Moltiplicazioni (verticali) Nome:  Soluzioni
Risolvi ogni operazione. Risposte
1) 98 2) 84 3) 59 4) 69
x 2 X 2 X 6 x 3 1 196
196 168 354 207 '
5 168
3 354
4 207
5 91 6 97 7) 34 8 73
x 7 x 3 x 3 X 6 5 637
637 291 102 438 '
6. 291
7 102
8 438
9 44 10) 42 11) 49 12) 88
x 7 X 6 X 8 X 8 ° 308
308 252 392 704 '
10, 252
11, 392
12 704
13) 24 14) 76 15) 79 16) 91
x 9 x 3 x 9 x 5
216 228 711 455 13 216
14, 228
15, 711
16. 455
17) 99 18) 87 19) 13 20) 60
x 3 x 7 x 5 x 5
297 609 65 300 17 297
18, 609
19. 65
20, 300
- 1-10 |95]90]85]80] 75] 70| 65| 60 55 | 50
MatematiCall = - oreshessit 4 11-20[45[40(35[30[25] 20[15[10[ 5 [ 0
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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
7 D
168 252 308 392
1
704 196 438 354
102 207 637 291 2
\ Y,
3
1) 98 2) 84 3) 59 4) 69 .
x 2 x 2 x 6 x 3 '
5.
6.
7.
8.
5 91 6) 97 7 34 8) 73
1_7 X 3 X 3 X 6 9
10.
11.
12.
9) 44 10) 42 11) 49 12) 88
x 7 X 6 x 8 x 8
i Semplificato 1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Matematica www.Commo%CoreSheetsit 4 11-12| 8| 0
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